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Ql.
Choose the correct option for follorving questions.
compulsory and carrv equal marks

All the Questions ane

The five itenx: A, B, C, D
fron-r A. Then the stack is
quelle. Then two ehnrents
stack. Now one item is ponr

and E are pmhed in a stack, one after the other starting
poppeil four tines and each elenrent is inserted in ;
are deleted from the queue and pushcct back on the
ed fom the stack. The popped item is:

1

Option A: A
Option B B
Option C C

Option D: D

2. ffi
K flXJ and Preorder tra'ersal is XYKIJ?

Option A: KYIJX
Option B: YKIJX
Option C: KIYJX
Option D: KIIYX

-t
J. Which ol'the following data sffuctures b med for tra

breadth first search'?

Option A: Stack

Option B: Set

Option C: List
Option D: Queue

t
+. Each non root node of B Tree of order M contains ?

Ootion A: \qq
Option B: Minimum 2 keys arrC maxirnum M- I keys

I Minimum M keys and iit nrost 2*M keys_

The rninirnum nunrber of eclges in a connected cyclic gaph on n lefiices isl
Option A: trl
Option B: n
Opticn C: rrF 1

Option D: 2n+ I

6. Wllat is the height r,l'rt cr.ir.tstr-itcted Binary Search Tree if elenrents

36,2, '15,2?, -55. -+-1. \l{. :9 trre inser-ted in an eflpty Binary Searcir tree as per
gi',ren orderl

Option A: 2
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Option B: 4
Option C: 6

Option D:
.l
J

7. The ntsximurn degee of any vertex in a shple graph wi$r n verticss is?
Option A: n
Option B: n-l
Option C rrl- I
Option D 2n-l

8. Wrat is Postfix Expressbn of given lnfr E
Option A: XYAB+C/+-
Option B: XYAE++T1.
Optiou C: XYAB+C-*/
Option D: XYAB+*C./

9. A binary tree in which all of tlre nodes are cf degree zero oi tw" b,rt t.r'er ir-ge.
one is called as

Option A: tsrrary Searcl, Tree

Option B: lrft Skevred Binary Tree
Option C: Strictly Binaqy Tree
Option D: Right Skewed Trec

r0. Which data stnrcftne is

sclreduling of Limitert resources? 
I I - ---r

Option A: Stack

Option B: ueue

Option C:
Cption D: 'Irees

Solve any Two, 5 marks eaclr, total 10 rnad<s.

Total 20 marks.

sequelrce for

Frgwe l. Binary Tree

Sohe stepwi-se, to cr)nrer1 the tbllo.vtng Info expression to Postfix n"tat,o,I
(x'r'y)+(z r((a+b-c)*cl ))- i"(i,&)
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Q2
Q2A

t Explain the Luertl-,n sort algorithnl along *rth exar"^ph.
IL Write Inorder Tiarersal,

giuen binary tree L.y gi;irrg
Preorder Traversal
its algorithni.

m.



Q2B Solve any One, 10 marks eacho total 10 marks.
i Exphin what is a Singly linked list along with ifs operations:- ,

searching insertion and dehtion Proper diagramrnatic :representations of
operations on the linked list, as nrentioned above, are abo expected. AIso, ,*rt 

-
fwo real world apphcations of the linked list.

It What b an AVL Tree? Conskuct an AVL tree for the following dataset:
33, 38, 42, 21, 16,, 26, 40,30, 27 ,22, 14, 15, 1g

Mentioir the rotations. if any, at each step.

Q3 Total 20 marks.

Q3A Solve any Two, 5 marks eacl4 total 10 mar{<s.

i Construct binary search tree fur given seouence 50,70.60,2A,90, 10,40,100,65,
25. 87 .

it Sort follov,'ing affay of eiglrt integers using quicksort. Show stepwise stafts of array.
25r79121110

ff- Coirpare BFS and DFS Giaph kaversal algorilhms.

Q3B Solve any One, lC marks each, total 10 ma,ks.
i. What a;'e the nrethods to resohe collisicn in hashing'? Arrange fulbwing valucs in

Hash tabh dsng
29, l}a, 54, 67 ,

Separate chaining Use lursh ftncibn h(k):k nmd 7.
34,4),90,j6,, 7g, 12, 29

What arc data shrctures? Explain linear and non-linear data struchres with

Q4 Total 20 marks.

Q4A Solve any Two, 5 rnalks eacfu total lG marks.
L Generate a Huffimn Tiee for th string CBA{IIFACFB. At the encl speci$, the

Huffimn code for each characier irr th"e giverr str:ing. Specify lpw nmch fiEnmry
bits are saved from the original, if 8 bits per character are required to store the
strrg in original fonrnt.

IL Write an algorittud pseudo Code for Sehctron sort. Eaphin working by taking
suitable example.

nr. Exphin Threaded Binary Tiee with suitable exarrple.

Q4B Soive any One, 10 marks each, total 10 marks.
i Explain tlre workr,ng of the double ended oueue

dispby, enpry, ard fUlt Proper cliaganaratic
rrrnticrned abole, are aiso expected.

with its cperations: inseft, delcte,
representatbns of operations as
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Write PrinJs algorithm and K
(MST). Also fo| ,t* gven gaph below, find the MST using Prim's utgoritti" ort
Kruskal's algorithrn, both. Sp:cify the cost at each step, and total wergtrt. '

Figrre 2. Graph

,:.i. I l.'-')fi()
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